
CHE-09 No. of Printed Pages : 8 

CD 
00 

O 
O 

L.() 

Time : 2 hours 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2012 

CHEMISTRY 

CHE-09 : BIOCHEMISTRY 

Maximum Marks : 50 

Note : Answer five questions in all. Q. No. 1 is compulsory. 

All questions carry equal marks. 

1. 	(a) Which of the following are membrane 11/2  
lipids ? 
(i) Cholesterol 
(ii) Choline 
(iii) Cerebrosides 
(iv) Glycerol 
(v) Phosphoglycerides 

(b) Glucose can be synthesised from which 
of the following non-carbohydrate 
precursors : 
(i) Alanine 
(ii) Lactate 
(iii) Adenine 
(iv) Glycerol 
(v) Palmitic acid 
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(c) Which of the following enzymes have 11/2 
impaired activity in vitamin B1  deficiency ? 

(i) Succinic dehydrogenase 

(ii) Pyruvate dehydrogenase 

(iii) Isocitrate dehydrogenase 

(iv) a-keto glutarate dehydrogenase 

(v) Transketolase 

(d) Which of the following amino acids side 11/2 
chain's are positively charged at 
physiological pH (— pH 7.0) ? 

(i) Aspartic acid 

(ii) Arginine 

(iii) Histidine 

(iv) Cysteine 

(v) Glutamic acid 

(vi) Lysine 

(e) Fill in the blanks. 	 4 

(i) is an optically inactive 
amino acid found in proteins. 

(ii) 	 are the sites of hydrogen 
peroxide reduction in cells. 

(iii) Antibodies are produced in 
	 cells. 

(iv) Pentoses form 	 upon 
heating in strong mineral acid. 

CHE-09 	 2 



2. 	(a) Describe any two of the following terms : 	5 

(i) Mutarotation 

(ii) Ketone bodies 

(iii) Michaelis constant 

(b) Name the major classes of antibodies and 	5 
their role in immunity. 

3. (a) Calculate the ATP and NADPH 3 

requirement for the synthesis of lauric acid 
(C12 : 0), starting from acetyl CoA. 

(b) Write the structures of any three of the 	3 
following compounds : 

(i) Mannitol 

(ii) Uridine 

(iii) Cysteine 

(iv) Lactose 

(v) Phosphatidyl serine 

(c) Write a short note on fat soluble vitamins. 	4 

4. 	(a) Compare the following pairs : 	 5 
(i) Malignant and benign tumours. 

(ii) Competitive and non-competitive 
inhibition. 

(b) What is genetic engineering ? Give 	5 
schematic diagram for the production of 
somatostatin by recombinant technology. 
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5. (a) How is pyruvate converted into Acetyl- 	5 

CoA ? Write the steps involved for the entry 

of acetyl - CoA into the TCA cycle. 	 5 

(b) Give an experimental evidence to prove that 

DNA is the genetic material. 

6. (a) Describe with the help of a neat diagram 	5 

how the proteins are processed and sent to 

different sites by golgi apparatus. 

	

(b) Describe the role of PS I or PS II in the 	5 

photosynthetic process in higher plants. 

7. (a) Name the three main types of RNA and 	3 

write their role in information transfer. 

(b) Write the physiological role of zinc 	2 
mentioning the disease associated with its 

deficiency. 

(c) Write short notes on any two of the 	5 

following : 

(i) Storage polysaccharides 

(ii) Secondary structure of proteins 

Glycolipids 
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(ii)  

(iii)  

(iv) r4  CH-RIC1 

(v) 444h)F4  -1•0 
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(c) 	F-14-iro1igd 	-A ch -1-14 •-■711V-1 B1 11/2  

*41 -4 aTtiTf---zr*ff-dr 	t? 

(i) kicRi 	 

(ii) trr-4-Fka 

(iii) 37 	a Fs$1441,;(-1 

(iv) a-ct) 	d 5 	 
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(ii) 

(iv) fti-R-19.  
(v) TTerricrT 

(vi)  
(e) 	rtctcf TeTi9 	 I 	 4 

(i) 	kii Liitif ■311; ctimi f9ftwzr tfit 3Tlf 

	 t 
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(iv) Mao 	3T -IT 	Trgi .1.) 	TR 
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2. 	(a) 	 A fe3h.6743-trql 	ceiltSqr W77 : 	5 

(i) 	Trft-a-al g-47 

4us 

	 -fteRfw 

(b) 	fa(4us1 iltsq aij 	* 	fffilgiR*MIT dkrrf 	5 

lift:rwr 

	

3. 	(a)   CoA A 31TOT *7* 'Fffit aTTI. 	3 

(C12 : 0) % 1,f7151111 14.  31T4VzI* ATP'241-  

NADPH *I 1-iRchci-f Vf-OR 

(b) 	 A Phl7'a.7-4V kiopi4tfuR : 	3 

(i) 4rieF 

(ii) zft4t9.  

(iii) #11:e17 

(iv) A-4tli 

(v) 	rso 	 
(c) ANT 	TR -R-w TINE tart fefuRI 	4 

	

4. 	(a) 	ri41 a1k qoil Vr7R 
	5 

(i) 	 

vrd-Fmkt-TT -ff94 31-51Thlxit1f-0:K 4q41-1 
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(b) 5 TT471 	 t? 1i97:111-M 	SI 4141 

gio 414-1142.rd-r 	30-11q-E 	ttiT 

--177 I 

5. (a)  5 1:f1T --4Z f*-11. 	-k-7c1rZ-6-CoA 14 tiRcircict trdT 

t ?tTlf-6F-CoA 	TCA r4911 14 3kqT14 	1-1-1 

fftR I 

(b)  5 70T fif 	ft 	WcdT t frn DNA 

31-ff4N-rw 	1 

6. (a)  5 \lob 	girt cqM411 	Lk f 	ligN31-1 *141 

tftliqr-lob tcN111cRuf %.74 	t 	?-11 

rciriM TR-&:4 	fort{ 51c4,R 	mrqr- 	iicfl t? 

(b)  5 TETTff chi 	Mcf.)M4tfu1 	"Sffll 14 PS I 

ai2Tar PS II 	3.01-*1 	00-iftsql Tlf7R I 

7. (a)  3 RNA t c111-41 	-51-*74 	714 -ffftfR2,1171-49T 

waf-d-Tur 	39-* 1.04TI as31 	I 

(b)  2 f 	ch1 	r94, q 	ch lifTrwr fffr-T§R 

Tf-4ftra- -q1-1:rr4 	-9-r7 -f-o-fti7 

(c)  5  Oci14.  74 f"----4" 	TITT-Fr ttcruft 

fffr7NR : 

(i) tT TAT 41fC1t~~t1~5  

(ii) -51-a1 9 	 fgdltr 	 

(iii) .1, Fri 4s 
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